sfeskesiesieskesiesieskesiesiesieiieiesieteiesk ekt oiekieiekek

x ] x
% Series E1GFH/5 [EE[E] Set No. 3 %
x - x
% T-TF IS %
: EE: e 64/5/3 :
i 357% / Roll No. ' gheeff -9 HIE H IFH-JIETHT a%'
S A R i Ll

® | | ! I I | | | | ! . Candidates must write the Q.P. Code .*
i ‘I_E_EI ____________________________ : on the title page of the answer-book. E i
B ! = mmmmmmmsssssooommm--oooo--o %
% = it %
: (e :
% GEOGRAPHY (Theory) %
X ftha a7 AT 55 0
% THT : 3 ghaHd 3 - 70 %
R Time allowed : 3 hours Maximum Marks : 70 %
x S
% T NOTE *
i ) 7T i B & f# 39 399-97 F|(I)  Please check that this question paper i
i 5727?@23 (2 FrfE afsa) & 1 ;o]r‘LItainj 23 printed pages (Including i

aps).

i (I) F97-97 ¥ g7l &9 @1 3R 12T 7@ | (1) Q.P. Code given on the right hand side i
% 797 B15 B GO FT-gleenT of the question paper should be written ste
% = 7T A ) on the title page of the answer-book by s
ne the candidate. e
* (11D FHIIT St #C o 1 59 ¥979-97 | (III) Please check that this question paper &
i 30 75T &/ contains 30 questions. i
* av) WW«‘F/W%@W% & | (IV) Please write down the serial *
i 78, FTR-Yiidl 4 F97 BT HHI% number of the question in the i
st T ) answer-book before attempting it. %
z (V) 35 y97-97 &I 97 & Io7@ 15 A72|(V) 15 minute time has been allotted to i
% HT TET 27 T B | FIH-IT FHT read this question paper. The %
-3 : question paper will be distributed at
% fera 255310‘15 Kgﬁ’wqﬁ” i ;, 10.15 a.m. From 10.15 a.m. to 10.30 %
i 10.15 10. 30’ &3 a.m., the candidates will read the

g FHAT JoT-T7 HI TG IR FG Y question paper only and will not

g & T § dd(-g/@cb/ T HIF FH write any answer on the answer-book %
i 78 for@n | during this period. ®

64/5/3

Get More Learning Materials Here: &

1

Coscrree €3

P.T.O.*A

%

@ www.studentbro.in



e e

Fr=fefaa frge =61 e @ ufer ik ST sgaTem HifT -
(i) 3TFT-TTH T30 Fo7E | T 797 3T & |
(ii) ¥o7-97 IR GUS| § [a97/57 8 — @Ue-%, &, T U & /

(iii) @S- : Jo7 &1 1 G 17 7% Tglashcd g J97 & |

(iv) GS-G : J97 G718 T 23 7% Tg-3IF0F 597 & | Jedeb F97 HT IR 80 & 100 i &
ToraT ST FIEY | F97 G&IT 18 TUT 19 Fie JTenRe 597 & /|

(v) G-I : J97 G&IT 24 T 28 T e-I0F J97 & | Fediab Jo7 HT I/ 120 T 150 151 7
feraT ST FI13T |

(vi) TE-T: 597 G&I129 T 30 FHI=F HTENRT G778 |

GE-%
(39 @Us § g1 b e 17 2 | afi v AfEr € 1)

1. fafaRad o @ &F 91 e 9qei® Frarha™ & aafua @ 7

(A)  FIATST T IATEH (B) A=A

(C) wieA (D) =R 1
2. foenfla srierasen ¥ sguere st steferasn o fFefafad &= 8 9 fhad 5 ard

g7

(A) s & B) gt &

(C) T &= (D) =g & 1
64/5/3 2 %A

Get More Learning Materials Here : & m @&\ www.studentbro.in



General Instructions :

Please read the following instructions carefully and follow them :

() This question paper contains 30 questions. All questions are
compulsory.

(it)  Question paper is divided into 4 Sections : Section — A, Section — B,
Section — C & Section — D.

(i1i) In Section — A : Question number 1 to 17 are Multiple Choice (MCQ)
type Questions.

(tv) In Section — B : Question number 18 to 23 are Short Answer (SA) type
questions. Answer to these questions shall be written in 80 to 100

words. Question number 18 & 19 are Source based questions.

(v)  In Section — C : Question number 24 to 28 are Long Answer (LA) type
questions. Answer to these questions shall be written tn 120 to 150

words.

(vt) In Section — D : Question number 29 & 30 are Map based questions.

SECTION - A

(There are 17 questions in this section. All questions are compulsory.)

1.  Which one of the following activities is related to quaternary activities ?
(A) Production of information (B) Fishing
(C) Tourism (D) Trading 1

2. In a developed economy, the majority of workers get employment in which

of the following sectors of economy ?

(A) Primary sector (B) Secondary sector
(C) Tertiary sector (D) Quaternary sector 1
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3. Tr=fciRad Summi # 9, foreshl a1 €9 | STaUgR oW HiTe- A FedTfard foham o1 ?
(A) AT UTH
(B) <hedToT IUTH
(C) 3N ATITAhT SUFTH
(D) =T 3IFH 1

4. Tr=faRed o M |1 AMe faeh 1 W &9 981§ ?
(A) ETEH T TE (B) e 3R Ty Sfie
(C) Tram (D) I 3T 1

5. TrmfaRaa sredemfeai @ & foram 1990 W wa foenma gEehies i fopar 2
(A) . 3 T (B) S T fog
(C) i Hgga-3A-5h (D) T 9. gud 1

6. TrmfaRaa o & fufsa iy i fermar i g i ;
(A) T8 GUT® TSI o TTAH-TT90T T T I 3T & ThR 2 |
(B) EST IcqTEH Ud YITSH T THH Hewd fearm Smar & |
(C) 3E=hT FUETTERIT & GRT SUfaE H YRS shi TS |
(D) 39 9T U, & fhEH shaet Hfesrt YeT a1 § | 1

7. Trefefad & i o et R A fowar H 2 7
(A) T8 TShaTehetTa SUTRRIST i T&gaTi o Tcaed forshar & Heiferd 2 |
(B) AT Bk SATIR et fersha & fere forara wfag™i & wros g 2 |
(C) TgEEIH Heoht GhT (ST Hrdl & gfd od & |

(D) esh SATIR 1 T34 313 ferfert Hiemii 3 gfdert gr grar 2 | 1
8. Frerferfiga i 2 v o mafier Freio <61 Frdvea 71 2 7

(A) T et renfieh 7= (B) fess gft

(C) BT (D) ST Jrferpr—ant 1
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3.  Which one of the following approaches was initially proposed by the
International Labour Organisation (ILO) ?
(A) Income Approach
(B) Welfare Approach
(C) Basic Needs Approach
(D) Capability Approach 1

4.  Which of the following is NOT a key area in human development ?
(A) Access to resources (B) Long and healthy life
(C) Education (D) Economic disadvantage 1

5.  Who, among the following economists created the Human Development
Index in the year 1990 ?
(A) Prof. Amartya Sen (B) Dr. Manmohan Singh
(C) Dr. Mahbub-ul-Haq (D) Ellen C. Semple 1

6. Identify the feature of mixed farming from the following :
(A) Itis most advanced and efficient type of rearing milch animals.
(B) Equal emphasis is laid on crop cultivation and animal husbandry.
(C) It was introduced by the Europeans in colonies.

(D) The regions where farmers specialised in vegetables only. 1

7.  Which one of the following is NOT a characteristic of retail trading ?
(A) It is concerned with sale of goods directly to the consumers.
(B) Most of the retail trading takes place in fixed establishments.
(C) Most of the retail stores procure their supplies from intermediate
stores.
(D) Retail trading constitutes bulk business through numerous

intermediary merchants and supply houses. 1

8. Modern manufacturing is NOT characterised by which one of the following ?
(A) A complex machine technology (B) Vast capital

(C) Small organisations (D) Executive bureaucracy 1
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9. fy=fafigd o @ =1 91 & IR A7 1 ¢RI 8 ?
(A) BTG (B) ==

(C) wIm D) <@ 1

10. TAfaRegd o @ 9 Sig &1 99F KIS
(A) rEfEaR -  fosmaTTem

(B) uftagd TR —  gad

(C) asTr - fiemg

(D) WEHSH TR — I 1
11. Te=fafReaa e o & foe 3 =1 e &1 T forn ?

(A) FATE AT (B) ife A

(C) fafer amam (D) Trem s 1

12. 3fen e T8 Hed # Ffafga S g e A ad A B 7
(A) 38 T TTEIH T&X 3 =10 T [T e o7 |
(B) I8 Tt U H gient §fer | et 2 |
(C) I &L uTfeh&a™ HHT & T S&d! 2 |
(D) 39 T H T HaH HH A= g3 2 | 1

13. VR SIS &5 o e § Frefefga S a sR s adi 71 8 7
(A) 79 &7 1 Tve et 1 Q1 ageiel — Wi 3R Eeft wfhe € |
(B) g IFfergerd STl & e 2 |
(C) 39 & 1 gl SIS HIGH <l ST & |

(D) ST TR e - JaTH L & | 1

14. Frafafad H &H o1 uh s Iguu 3= i STell Hewqul S T8l & ?

(A) iR fmor

(B) R ATEA

(C) <RI TS aTet A=

(D) Tafee sam 1
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9.  Which of the following is an example of ancient town ?
(A) Hyderabad (B) Chennai
(C) Prayag (D) Lucknow
10. Choose the correct pair from the following :
(A) Industrial town - Vishakhapatnam
(B) Transport town — Satna
(C) Commercial town — Bhilai
(D) Administrative town — — Bhopal
11. Which of the following commaission replaced ‘Planning Commission’ ?
(A) Election Commission (B) NITI Aayog
(C) Law Commission (D) Education Commission
12. Which of the following statement is NOT true regarding Indira Gandhi
Canal ?
(A) It was previously known as Rajasthan canal.
(B) It originates at Harika barrage in Punjab.
(C) The canal runs almost parallel to Pakistan border.
(D) Rajasthan is least benefitted by this canal.
13. Which one of the following is NOT true about Bharmaur tribal region ?
(A) This region comprises of Bharmaur and Holi tehsil of Chamba
district.
(B) Itis not a notified tribal area.
(C) Itis mainly inhabited by Gaddi tribal community.
(D) The tribals practise transhumance.
14. Which one of the following is NOT a significant factor in creating noise
pollution ?
(A) Mechanised construction
(B) Automobiles
(C) Fodder cutting machine
(D) Variety of industries
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Read the following source and answer the question no. 15 to 17.

A Case Study

Jhabua district is located in the westernmost agro-climatic zone in
Madhya Pradesh. It is, in fact, one of the five most backward districts of
the country. It is characterized by high concentration of tribal population
(mostly Bhils). The people suffer due to poverty which has been
accentuated by the high rate of resource degradation, both forest and
land. The watershed management programmes funded by both the
Ministries of “Rural Development” and “Agriculture”, Government of
India, have been successfully implemented in Jhabua district which has
gone a long way in preventing land degradation and improving soil
quality. Watershed Management Programmes acknowledge the linkage
between land, water and vegetation and attempts to improve livelihoods
of people through natural resource management and community
participation. In the past five years the programmes funded by the
Ministry of Rural Development alone (implemented by Rajiv Gandhi
Mission for Watershed Management) has treated 20 percent of the total
area under Jhabua district.

The Petlawad Development block of Jhabua is located in the northernmost
part of the district and represents an interesting and successful case of
Government-NGO partnership and community participation in managing
watershed programmes. The Bhils in Petlawad Development block, for
example, (Sat Rundi hamlet of Karravat village) through their own
efforts, have revitalized large parts of common property resources. Each
household planted and maintained one tree on the common property.
They also have planted fodder grass on the pasture land and adopted
social-fencing of these lands for at least two years. Even after that, they
say, there would be no open grazing on these lands, but stall feeding of
cattle, and they are thus confident that the pastures they have developed

would sustain their cattle in future.
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An interesting aspect of this experience is that before the community
embarked upon the process of management of the pasture, there was
encroachment on this land by a villager from an adjoining village. The
villagers called the tehsildar to ascertain the rights of the common land.
The ensuing conflict was tackled by the villagers by offering to make the
defaulter encroaching on the CPR a member of their user group and

sharing the benefits of greening the common lands / pastures.

15. Why did the people of Jhabua tribal community suffer from poverty ?
Choose the option which is NOT correct.
(A) High rate of forests degradation
(B) Land degradation
(C) Illiteracy

(D) Implementation of watershed management 1

16. How did people manage to develop pasture lands ? Choose the correct
option.
(A) Use of barbed wire to protect pastures.
(B) Pasture lands were not under any encroachment.
(C) Pastures were common property resources, hence they developed it.

(D) Govt. officials did not interfere in any work of the villagers. 1

17. How did the Bhils, through their own efforts revitalise the common
property resources ? Choose the correct option.
(A) Common land was brought under cultivation.
(B) They controlled open grazing on the common property resources.
(C) No tree plantation was taken up.

(D) They developed water resources. 1
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SECTION - B
(Question No. 18 and 19 are Source Based Questions.)

18. Study the given figure carefully and answer the questions that follow :1 x 3 =3

Mexico [
Russia [

Bangladesh [T/
Nigeria [

Pakistan ]
Brazil 1
Indonesia [T
U.SA /1
India ]
China ' ‘ |
0 2(I)0 460 660 S(I)O 10I00 12I00 14I00 16I00
Population in Million

Countries

Most Populous Countries

(18.1) Name the highest populous country. 1
(18.2) How many total countries of Asia continent are shown in the
figure ?

(18.3) How do landforms affect the density of population in Asia ?

Note: Following questions are for Visually Impaired Candidates
only in lieu of Question No. 18 :

(18.1) Which continent has the highest population ?

(18.2) Which region has the least population ?

(18.3) Explain the climate as the main factor affecting distribution of
population. 1
19. Read the given source and answer the questions that follow : 1x3=3

We use many items in our daily life. From toothpaste to our bed tea,
milk, clothes, soaps, food items, etc., are required everyday. All these can
be purchased from the market. Have you ever thought as to how these
items are brought from the site of production ? All the production is meant
for consumption. From the fields and factory, the produce is brought to
the place from where consumers purchase it. It is the transportation of
these items from the site of their production to the market which make
them available to the consumer.
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We not only use material things, like fruits, vegetables, books,
clothes, etc., but also use ideas, views and messages in our daily life. Do
you know we exchange our views, ideas and messages from one place to
another or one individual to another while communicating with the help
of various means ?

The use of transport and communication depends upon our need to
move things from place of their availability to the place of their use.

Human beings use various methods to move goods, commodities, ideas
from one place to another.

(19.1)  Explain the utility of transportation.
(19.2) Define the term ‘Communication’.

(19.3)  Differentiate between transport and communication.

(Question No. 20 to 23 are Short Answer Type Questions.)

20. “The physical and human phenomena are described in metaphors using
symbols from human anatomy.” Support the statement with example. 3

21. (a) “Technological innovations through research and development
strategy are an important aspect of modern manufacturing.” Analyse

the statement. 3
OR

(b) “Speedy and efficient system of transport is essential for the

development of industries.” Analyse the statement. 3

22. Explain how the °‘size of population’ and the stage of ‘economic
development’ are the bases of international trade. 3

23. (a) “There is high demand of water for irrigation in agricultural sector in

India.” Justify the statement. 3
OR
(b) “Rain-water harvesting has been practised through various methods
by different communities in the country.” Justify the statement. 3
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SECTION - C
(Question No. 24 to 28 are Long Answer Type Questions.)

24. (a) Mention the major problems faced by global road transport in

mountainous and hot desert areas. 5
OR
(b) Mention the major benefits of rail transport in the world. 5

25. (a) Analyse the effects of geographical factors on the distribution of
world population. 5
OR
(b) Analyse the economic and social factors affecting the distribution of

population in the world. 3+2=5

26. “The uneven spatial distribution of population suggests a close
relationship between population and socio-economic and physical factors.”

Analyse the statement. 5

27. Examine the role of air transport in the promotion of international trade. 5

28. Explain any five major problems of Indian agriculture. 5
SECTION -D

(Question No. 29 & 30 are Map Based Questions.)
29. On the given political outline map of the world seven geographical
features have been marked as A, B, C, D, E, F and G. Identify any five

and name them on the lines marked near them. 5
A. An International Airport in Asia.

B. A canal linking Red sea with Mediterranean sea.

C. A major seaport in North America.

D. A terminal station on the Trans-Australian Railway.

E. A major area of nomadic herding in Africa.

F. A major area of extensive commercial grain farming.

G. International airport of Europe.

64/5/3 17 P.T.O.*A
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Note : The following questions are for Visually impaired candidates

only in lieu of Question No. 29.

Attempt any five of the following :

29.1 Name the international airport of Yemen.

29.2  Which canal links Red sea with Mediterranean Sea ?

29.3  Name the major sea port of Canada along its west coast.

29.4  Mention either of the terminal stations on the Trans-Australian
Railway.

29.5  Mention the major nomadic herding region of South Africa.

29.6  Name any one major area of extensive commercial grain farming.

29.7 Name any one International airport of Great Britain.

30. On the given political outline map of India, locate and label any five of
the following : 5
30.1 A state with highest level of population density.
30.2 A state with highest level of urbanisation.
30.3 A state leading in the production of jute.
30.4  Koraput-bauxite mines.
30.5  Jharia coal mines.
30.6  Mangaluru seaport.

30.7  An international airport in Punjab.

Note : The following questions are for the Visually impaired
candidates only in lieu of the Question No. 30.

Attempt any five of the following :

30.1 Name the state with highest level of population density.

30.2  Which is the state of the highest level of urbanisation ?

30.3  Which state is leading in the production of jute ?

30.4  In which state Koraput-bauxite mines are located ?

30.5  Mention the state where Jharia coal mines are located.

30.6  Along which coast of India, Mangaluru seaport is located ?

30.7 Name international airport located in Punjab.

64/5/3 19 P.T.O.*A
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2023
SUBJECT NAME GEOGRAPHY (SUBJECT CODE 029) (PAPER CODE 64/5/3)

General Instructions: -

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to
anyone, publishing in any magazine and printing in News Paper/Website etc may
invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and due marks be
awarded to them. In class-X, while evaluating two competency-based questions,
please try to understand given answer and even if reply is not from marking scheme
but correct competency is enumerated by the candidate, due marks should be
awarded.

The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks
should be awarded accordingly.

Head-Examiner must go through the first five answer books evaluated by each evaluator
on the first day, to ensure that evaluation has been carried out as per the instructions
given in the Marking Scheme. If there is any variation, the same should be zero after
delibration and discussion. The remaining answer books meant for evaluation shall be
given only after ensuring that there is no significant variation in the marking of individual
evaluators.
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Evaluators will mark( ¥ ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v ) while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

7
If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

8
If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9
If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra Question”.

10
No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

1
A full scale of marks 70(example 0 to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves
it.

12
Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).This is in view of the
reduced syllabus and number of questions in question paper.

13

Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark
is correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.
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14
While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0)Marks.

15
Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16
The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17
Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18
The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME 2023

(ANNUAL EXAMINATION)
GEOGRAPHY (029)
PAPER CODE 64/5/3 SET - 3
MM:70
Q EXPECTED ANSWERS/VALUE POINTS PAGE NO | DISTRIBUT
No. INTB ION OF
MARKS
SECTION A
QUESTION NO. 1-17 are MCQ’s

1. | (A) Production of information Pg. 61 1
TB-1

2 | (C) Tertiary sector Pg. 55 1
TB-1

8 | (C) Basic Need approach Pg. 26 1
TB-1

4 | (D) Economic disadvantage Pg. 25 1
TB-1

5 |(C) Dr. Mahbub-Ul-Haq Pg. 23 1
T.B-1

6 | (B) Equal emphasis is laid on crop cultivation and Pg. 38 1
animal husbandry TB-1

7 | (D) Retail trading constitutes bulk business through Pg. 57 1

numerous Intermediary merchants and supply

houses. TB-1

Get More Learning Materials Here : & m @&\ www.studentbro.in



8 | (C) Small organization Pg. 46 1
TB-1
9 |(C) Prayag Pg. 34 1
TB-2
10 | (D) Administrative town — Bhopal Pg.36 1
TB-2
11 | (B) NITI Aayog Pg.104 1
TB-2
12 | (D) Rajasthan is least benefited by this canal. Pg.110 1
TB-2
13 | (B) It is not a notified tribal area. Pg.106 1
TB-2
14 | (C) Fodder cutting machine Pg.134 1
TB-2
15 | (D) Implementation of watershed management 1
16 | (C) Pastures were common property resource, hence 1
they developed it.
17 | (B) They controlled open grazing on the common 1
property resources.
SECTION B
Question No. 18 &19 are source based
18 | (18.1) Name the highest populous country :
-China !
(18.2) How many total countries of Asia continent are
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shown in the figure ?
-Six countries.

(18.3) Explain the climate as the main factor
affecting distribution of population. :

-People prefer living on flat plains. This 1is
because such areas are favourable for the
production of crops and to build roads.

For Visually Impaired Candidates Only
(18.1) Which continent has the highest
population?
-Asia
(18.2) Which region has the least population
-Oceania

(18.3) Explain the climate as the main factor
affecting distribution of population.

-Favourable climate of a region attracts large
number of population.

Pg 3
TB-1

19

(19.1) Explain the utility of transportation:

-We get our daily items through any transport
system.

(19.2) Define the term ‘Communication’

-We send ideas, views and messages from one
place to another.

(19.3) Differentiate between transport and
communication:

-Transportation moves goods and people while
communication moves ideas and messages.

20

“The physical and human phenomena are described
in metaphors using symbols from human anatomy’.
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Support the statement with examples.

Examples :

1 Eye of the cyclone

11 Snout of glacier

111 Neck of isthmus

v State as living organism

\% Network of roads and railways as

the arteries of circulation, etc.

vi Any other relevant point. Pg. 2
(Any three points to be explained) TB-1 1x3=3
21 (a) ‘Technological innovation through research and

development strategy are an important aspect of
modern manufacturing’. Analyse the statement.

1. Technological innovations take place through
research and development.

1. They are important for modern
manufacturing for quality control.

111. These innovations eliminate waste and
inefficiency.

1v. These are helpful in combating pollution also. Pg.46
v. Any other relevant point TB-1 1x3=3

(Any three points to be explained)
OR

(b) ‘Speedy and efficient system of transport is
essential for the development of industries’.
Analyse the statement.

1. Efficient systems of transport help in carrying
raw material to the industries.
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11 They carry finished goods to the
market.

111 The cost of transport plays an important
rolein the location of industry.

1v Modern industry is inseparably tied with
transportation.

v Improvement in transportation system
led to integrated economic development
and regional specialization of industries Pg. 47

vi Any other relevant point. TB-1 1x3=3

(Any three points to be explained)

22 ‘Explain how the size of population’ and stage

of economic development’ are the bases of
International trade.

1. Size of population : Densely populated countries
have large volume of internal trade but little
external trade. Standard of living of people
determines the demand of goods.

(To be assessed as a whole) 1v2

11. Economic development : Different countries are
at different stages of economic development.
Agriculturally important countries exchange agro
products and industrially important countries

exchange industrial goods.
Pg.83

(To be assessed as a whole) 112 TB-1 1V2 4112=3

23 | (a) There is high demand of water for irrigation in

agricultural sector in India’. Justify the
statement.
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Demand of water :

1. Irrigation makes multiple cropping
possible.

11. Irrigated lands have higher
agricultural productivity.

111. Some parts of India are deficient in

rain, so they need water for irrigation.
1v. Some crops require large amounts of

. . Pg.63 1x3=3
water like rice, sugarcane, etc.

v. Some high yielding varieties of crops TB-2
need regular supply of moisture.
vi. Any other relevant point
( Any three points to be explained)

OR

(b) ‘Rain-water harvesting has been practised
through various methods by different
communities in the country’. Justify the
statement.

1. Traditional rainwater harvesting in rural
areas is done by using surface storage bodies.

1. In Rajasthan rainwater harvesting
structures are locally known as Kund or Tanka.

111 There 1s wide scope to use rainwater
harvesting.

. . : Pg.60 1x3=3
1v It can be done by harvesting rain water g
on rooftops and open spaces. TB-2

v Any other relevant point
( Any three points to be explained)
SECTION C
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Question no. 24 - 28 are long answer type questions

24

(a) Mention the major problems faced by global road
transport in mountainous and hot desert areas.

1. Hilly or mountainous areas have a very

difficult terrain.

1. Cost of road construction is very high.

111, It 1s difficult to construct roads on high
altitudes.

1v. In desert, the road construction is
uneconomical.

V. Moreover these desert roads are covered

with sand when the wind blows.

V1. Maintenance cost of roads on hilly and
desert areas are very high.

vii.  Unmetalled roads become unmotorable
during heavy rains and floods.

viil.  Any other relevant point.

Any 5 points need to be explained.
OR

(b) Mention the major benefits of Rail
transport in the world:

1 Suitable for carrying bulky goods over

long distances.
11 Suitable for carrying long-distance

passengers.

Pg. 67 | 1x5=5

TB-1
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11 Railways are highly beneficial for the
development of industries.

iv They provide help in the development of
agriculture.
v They promote tourism.

‘ ‘ ‘ ‘ Pg.68 | 1x5=5
vi They promote national and international

trade. TB-1

vil Any other relevant point.

Any 5 points need to be explained.

25

(a) Analyse the effects of geographical factors on
the distribution of world population -

The following geographical factors influence the
distribution of population all over the world :

1. Availability of water.
1.  Nature of landscape/landforms.
1.  Nature of soils.
1v. Adequate rainfall.
v. Climate

. . Pg.9
vi. Any other relevant point g

(Any 5 points need to be explained.) TB-1 1x5=5

OR

( b) Analyse the economic and social factors
affecting the distribution of population in the
world -

Economic Factors:

1. Minerals

Get More Learning Materials Here : & m @&\ www.studentbro.in



1. Urbanisation
111. Industrialisation
1v. Any other relevant point.

V. Any three points to be explained.
Social factors :
1 Religious
1 Cultural
111 Any other relevant point.

Any two points to be explained. Pg9

TB-1 3+2=5

26 The uneven spatial distribution of population

suggests a close relationship between population
and socio-economic and physical factors’.Analyse
the statement

Population distribution is highly influenced by several
factors and the following factors have direct
correlation with population e.g :

1 Land forms or terrain
11 Climatic conditions
111 Availability of water
v Nature of soils

\% Development of Mineral and energy
resources

vi Development of transport network,

industrialization and urbanization. Po 3
g.

. 1 3
(Any 5 points need to be explained) TB-9 1x5=5

21 Examine the role of Air transport in the promotion of

international trade.
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1 It plays imp. role in international
trade.
1 It takes least time.
111 It 1s the quickest mode of
transportation.
v Helpful in carrying emergency
goods.
\% Highly suitable for perishable
goods.
vi It helps in promoting international trade.
Pg.130
vii Any other relevant point
TB-2 1x5=5
(Any 5 points need to be explained)
28 Explain any five major problems of Indian
Agriculture-
1 Dependence on erratic monsoon.
11 Low productivity.
111 Constraints of Financial Resources and
indebtedness.
1v  Small farm size and fragmentation.
v Lack of land reforms.
vi Lack of Commercialization.
vili Vast underemployment. Pg55
1x5=5
viii Degradation of cultivable land. TB-2
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ix. Any other relevant point.

(Any 5 points are to be explained)

SECTION D

Question no. 29 and 30 are map based questions

29

(World : Please see attached map)
For Visually Impaired Candidate Only.

(Attempt any five)

(29.1)  Aden

(29.2) Suez canal

(29.3) Vancouver

(29.4) Perth/Sydney
(29.5) South West Africa

(29.6)Prairies/Pampas/Velds/Downs/Stepp
es (Any one)

(29.7) London

1x5=5

30

Map : (India : Please see attached map)
For Visually Impaired Candidate Only.

(Attempt any five)
(30.1) Bihar
(30.2) Goa
(30.3) West Bengal
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(30.4) Odisha
(30.5) Jharkhand
(30.6) West Coast of India 1x5=5

(30.7) Amritsar
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